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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST
BOOEKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places im the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet,

This Test Booklet contains 100 items {questions). Each item is printed both in Hindi and English.
Each item comprises four responses {answers). You will select the response which you want to
mark on the Answer Sheet, In case vou feel that there is more than one correct response, mark the
response which vou consider the best. In any case, choose ONLY ONE responsc for cach item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

Afl items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per nstructions sent 1o you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the exammation has
concluded, you should hand over to the Invigilator enly the Answer Sheet, You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOE WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four altematives for the answer to every question. For each queshon for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question,

(iii) 1f a question is left blank ie., no answer is given by the candidate, there will be no penalty
for that question,
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1.

What is the solution of

Iugm[l— {1 —[I—;-:I]_I]_IF =17

(a) x=100
(b} x=10
fe) x=1
) x=0

If 415 an integer and e, [ are the roots

ﬂf'4.1'2—]ﬁx+%-=ﬂ such that 1 <@ <2

and 2 < <3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
(d) 15

6 +7°+82 +9% +10°

7 +4u'r§_—xll';2ﬁ

What is equal

to ?

{a) 330
(b) 340
(c) 355
(d) 366

If ¥*=y+z ¥=z+x and Z=x+y,
then what iz the value of

1 ] 1
+ +
x+l p+l
(a) -1
{b) 1
(e} 2
(d) 4

7
z+1
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5.

7.

What would be the maximum value of O
in the equation

SP9+ 3RT+ 208 = 11147
(a) 9
(b) §
(c) 5
(d) 4

A is a set of positive integers such that

when divided by 2, 3, 4, 5 and Gleaves

the remainder 1,2,3,4 and 5 respec-
tively. How many integers between
0 and 100 belong to the set 4 7

{a) WMo integer

(k) One

(c) Two

(d) Three

In an examination, a student was asked
to divide a certain number by 8. By
mistake he multiplied it by 8 and got the

answer 2016 more than the comrect
answer, What was the number 7

fa) 252
(b) 256
(c) 258
(d) 260
In the quadratic equation x*+ ax+5=0,
a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values

of a and b are possible in order that the
quadratic equation has real roots?

(a) 6
(b) 7
(c) B
(d) 16



e -

1. tugmll—{1—(1—x1)"1}_l] =

AT ?
(a) x=100
(b) x=10
{c) x=1
(d =0

Lafe A wE qufs & AR o, foEHERT
412-1ﬁx+%=0%1135ﬁm%ﬁ:
l=a<23R2<g <38 o1 A% B am
T

(a) 3

by 9

(c) 14

(@ 15

62 +7% +82 +92 +10°

‘ ﬁ+4ﬁ—d4+1ﬁmmg?
(a) 330

(b) 340

(¢) 355

d 366

LA P=y+z P=z+x @R F=x+y?,

1 1 |
+ + FIHAFTE ?
x+l y+1 z+l1

{a) -1
(b) 1
(c) 2
(d) 4

5, T 5P0 + 3R7 + 208 = 1114% Q=1

Afiraram W w41 B ?
{a) 9
(b) 8
() 3
(d) 4

. A T ueTeEE quilst, 91 2,3, 4,58 6 @

fmfm f5g 99 = w1, 2, 3, 4
3z 5 9 ey €, = uE wmeen #
A A # 0¥ 100 & == F fFaa quies
B ?

(a) T il e

b) TH

() &

(@) =

. Fredt ol ®, ve Famdi |/ o fafre

e & 84 frmfg we & o g |
el # I HE i 8 # I a faE i
T wEl IR @ 2016 wrfies ww B | =w
T T4 |4t 7

(a) 252

(b) 256

(c) 258

(d) 260

, fiam ot P+ ax+ b=0H a 5K b,

weaE (1,2, 3,4} § fHat At 7o R
TFA £ | a3 b F WA & UF fFa =3
g £ foma forg fomm el & 5@
et B 7

(a) 6

®) 7

©) 8

d 16
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9, The sum of the squares of two positive

10.

11.

12.

mtegers is 208. If the square of the larger
number is 18 times the smaller number,
then what 15 the difference of the larger
and smaller numbers 7

(a) 2
(b} 3
(c) 4
d) 6
Let 4 =4{7, 8 9, 10, 11, 12} and
#=1{7, 10, 14, 15}. What is the number
of elements in (4—B8) and (B-4A)
respectively 7
{a) 2 and 4
(b) 4and 2
(c) 2and 2
(d) 4 and 4
A boy saves Rs. 4-65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees 7

(a) 10
(b) 20
() 21
(d) 25
Two men, A and & run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other 7

(a) Once
(b) Twice
(c) Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which ome of the following rational
numbers has non-lerminating and repeat-
ing decimal expansion ?
15
1600
23
)
35
50
17
[i]

[a]
(b)
(c)

(d)

If & and f are the two zeros of the
polynomial 25x° — 155+ 2, then what is
a quadratic polynomial whose zeros are
(2a)" and (26)7 7

(a) & +30x+2
(b) 8x"—30x+25
(€) 8x —30x
(d) »* + 30x

What is the remainder when 2'™ is
divided by 101 ?

(a) 1

(k) 11

{c)] 99

{d) 100

In an office, one-third of the workers arc
women, half of the women are married
and one-third of the marmed women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of marmed women (o married men ?

(a) 1:2
(o) 21
c) 3:1
(d) 1



9,

10.

11.

12,

31 gATEA quTieRt 3 W o ITEE 208°% |
afe =5t \E & w1 e we & 187A
At =2t ofie 2 Henet w s e g 7
(a) 2
by 3
(c) 4
dy 6
" @i 4 = {7, 8,9, 10, 11, 12} &

B=1{T, lﬂ,i-ll-,lﬂ}% !{A—B}ﬂhiﬂ—ﬁ}
Y WEgE] o T A |} R ?

(a) 23R4
(b) 432
(€) 232
(@ 434

T T Wiated 4.65 %, s & | famn =
a8 AN ae ¥4 g, e 98 B
st Y T == a7 '

(a) 10

(b) 20
(¢} 21
(d) 25

a7 ATEHT, A A BUF 0-25 km &F THAHR
7 T 4 km H 97 W ¥ | 3l s
THIR T AT 5 : 4%, T SAa w1 gEe
¥ Toradt A A 2 2

(a) TFH TR
(b) & &R
(¢) &I+ =

d wRIN

13.

14,

15.

16.

et & @ 9 #f uF afem g
FETT A IO SAHe WER AT
27

15

1600

23

2

35

50

17

6

(a)
(b)
()
(d)

af wgg 2507 - 155+ 23§ 7 o R
B #, A 7% fgum smag w1 g e
I (2a) A (28) € 7

() 2+30x+2

(b) 82— 30x+25

(c) 8¥—30x

(d) £+ 30x

= 21 =t 101 9 e fe 9w, &t
A w7 B 7
{a) 1

(b) 11
(c) 99
(d) 100

U aiite H, U~ forerd st A €
it # & aneht wfemd Rrarfea € sk
frenfis wfemei # 9 us-fer wiemei &
T & | g qE9 A § dR-aran 76w
Frenfia & ot w-frerd frafea qewt &
==4 g, W Fanfea wfemei =1 farfm
TEq] & W T S § 7

(a) 1:2

(b} 2
(e} 3
(d) 1

4 |
|
i
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17.

18.

19.

A can do 50% more work than B in the
same time. # alone can do a piece of
work in 30 hours. £ starts working and
had already worked for 12 hours when
A joins him. How many hours should
£ and 4 work together 1o complete the
remaining work ?

(2) 6 hours

(b} 12 hours

{e) 4-8 hours

(d) 7-2 hours

When the speed of a train 15 increased by
20%, 1t takes 20 minutes less to cover
the same distance. What is the time

taken to cover the same distance with
the original speed 7

(a) 140 minutes
(b) 120 minutes
(c}) 100 minutes
(d) B0 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores %% marks
gets b marks more than the minimum
required pass marks. What 15 the
maximum marks for the examination ?

100{a +5)
x-y

()

100{a = &)
X+ y

(b)

 100(a +b)
¥=Xx

()

100{a —b)
Xy

(d)

SDC-5-TRD — A

20,

21.

22.

If p and g are the roots of *+ px +g =0,
then which one of the following is
comect 7

{a) p=0orl
(b) p=1 only
c) p=-2o0r0
(d) p=-2only

The cost of 2-5 kg rice 1s Rs. 125, The
cost of 9 kg rice 18 equal to that of 4 kg
pulses. The cost of 14 kg pulses 1s equal
to that of 1-5 kg tea. The cost of 2 kg tea
15 equal to that of 5 kg nuts. What is the
cost of 11 kg nuts 7

(a) Rs. 2310
(b} Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in
respect of the number 17297

{a) It cannot be wntten as the sum of
the cubes of two positive integers

It can be written as the sum of the
cubes of two positive integers in
one way only

(k)

It can be written as the sum of the
cubes of two positive integers in
two ways only

(c)

It can be written as the sum of the
cubes of two positive integers in
three ways only

(d)



17.

8.

19"

TF TR T H A, B R 50% 3P w a

AT & | B el U 1 i 30 WA
51 61 € | BT ¥E F 8, AR I6E

12 62 a0 & A & a1 A F6h 1Y
firerart rf 9 = € | = E W
o w0 % f A ofic B feem w2 fimee
wH w7

(a) 6 =2

(b) 12 =2

(c) 48 =2

(d 72 92

el U LETE T 20% Fedt §, 91 T8
AR T T 7 20 Pz F A @
THeR! ATt =T 6 S W gl
a3 Tome e w7

(a) 140 fre

(b 120 Free

(c) 100 fmez

(@) 80 fimz

eret e # O el a9 S WTH S

# 3l o %) | T B I R, sAlE g
e ST % 3 WIH FRel § 9 =ad
ATIIAF IOl Fh! § bR AT WIE B
£ | e F siftraam i @ E 7
1000 a + )

x=y
100(a - &)

i+ ¥y
100a +5)

y=x
100{a = &)

x—y

(a)

()

(e)

(d)

20, g K4 pxtg=0F FH p AT g B, T

11.

21.

R A g S T At R 7
(a) p=05971 1

(b) = p=1

(c) p=—230 0

(d) Had p=-2

2.5 kg =TS H HAF 1255, 8 | Qkg T
&t Fima 4 kg T it FET & T R
14 kg T ¥ Frm 1-5 kg =@ it 7= &
SER B | 2 kg =@ o) o ) Fa Ske
2 (Frfem wer) & = 2 | 11 kg 72 it
i T g 7

(a) & 2310
(b} % 3190
(c) & 4070

(d) ®. 4620

HE 1729 & wayg # feefofas & @
FIT T T FGT wa R 7

(a) = 1 gAEnE gl & 96 & 9w &
w9 7 = foray o w2

(b) T B HATeHS quifcht F T 3 TN
ey B ¥aEw E 2 e ¥ fomn wn
T &

(c) TR 2 aTenE QiR & 941 & 90 &
=9 # Saw 2t yeR A o 9 g
B

(d) T8 SY LFTHE QU & AT o T &
=1 & Fam A v o o o
1‘;’_{ i

A - SDC-5-TRD



23.

24,

25.

A shopkeeper increases the cost price of
an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain 7

{a) 15%
(b) 12%
{c) 10%
(d) 8%

There are two numbers p and g such that
their HCF 1s 1. Which of the following
statements are correct 7

1. Both p and g may be prime.

2. One number may be prime and the
other compaosite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

{a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and3

What is

|' | I|

l+-2-+i.,+ J+—11+il+ v +
1 2“ 2 F

= |

|{|.+ + l to ?
Vo 2007% 2008 1M

|
a) 2008 ———
® 2008

1
207 — ——
®) 2007

I
¢) 2007 ———
() 2008

(d) 2008- =
2009

SDC-5-TRD — A

26.

27.

28,

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current 7

(a) 2 km/hour

(b) 25 kmvhour

(c) 3 km/hour

(d) 4 km/hour

Consider the following statcments in

respect of positive odd intepgers x and y :
1. ¥+ is even integer,
2. ¥ +7 is divisible by 4.

Which of the above statements is/are
correct 7

{a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Weither 1 nor 2

What are the roots of the equation

X

242 975 T =g ¢

3
(a) 2, 1—3-!.?2[5]

2
® 2, 1—!03[;}

% log 3
o
) [Iﬂg 2]
b
() -2, I_(.n’ngz
log 3



23.

T ZEAGR U 6] & -4 5 20% &
af aa # 3w sifr 79 o 10%
Tz oA & | Fae wiaww @ T g
(a) 13%

(b) 12%

(c} 10%

(d 8%

24, 1 g@m p AR g W vow & & e

25.

HCF, | & | frafafaa & @ a4 @ &9

I E 7

'l-piﬂ'{qrfFﬁWE?lEﬁﬁ

2. U HEN dATn AR g W e
EmI

3. BT e e B we @

Hra ol T g W owEE AR IR

e

(a) whaw | 2

(b) e 2 #tE 3

(c) el 1 ¥R 3

(d 1,293

= : |
Jl+']?+Lz+Jl+_1i'+T+ e
- 2 Ll

\(1+ 13+ Izﬁm%arm%?
2007° 2008

1
(a) 2008- 5008

1
2T = et
(b} 2007

1
3 2007 ———
© 2008

I
2008 ———
) 2009

26, U SfH UET o A (HAwAE) 2 W A

27.

18.

20 km A9 @ & 3T uwr F wge 2 92
H4km TAET R |G R TEFE ?

(a) 2 km/=e

(b) 2-5 km/=3

(c) 3 km/H21

(d) 4km/=aT

uATeREF foww gmist x WKy & e
feerffian Fant o Fram Hif

1. 2+ @\ guriE 2

2. X +3y%, 4 @ Frwrm g

Fofen gl | & A/ R W R 7
(a) <= 1

(b) Fa 2

(c) 1 T 2 Ft

d FaTL,9E 2

o 2542, 2751 = 9 % T W E 7

3
(a) 2.1—.*0,.;[53

2
b 2, l—J'ag{E]

log3
et [fﬂsl]

[ log2
Gy {LﬂgS]

A — 3DC-5-TRD



29,

3“1-

31.

32,

There are twelve friends 4, B, C, D, E,
F,. & H I J K and I who invested
money in some business in the ratio of
L e Fgnie §e Fo e @ INET] 1D
and the duration for which they invested
the money is i the ratio of
el L 1 B8 B - Bl Bl e e i St |
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

{(b) & only

{c) Both F and G

(d) Neither F nor G

2B+ 471 g% 4% 42 s divisible
by which one of the following integers 7
(2) 3

(b} 5

(c) 7

(d) 11

If2p + 3g = 12 and 4p” + dpg — 35" = 126,
then what is the value of p+2g 7

(a) 3

21
(b) 3
2__5
4
99
16

(e)

(d)

The number of digits in 3% is # and it is
given that log,, 3 = 0-4771. What is the
value of n ?

{a) 13
(b) 14
{c) 15
(d) 16

SDC-5-TRD - A

10

3‘31‘

What is the unit digit of 7% 2
(a) 9
(b) 7
(e} 6
(d) 3

34, If 4x + 3a =10, then what is the value of

35,

36.

2 2

I1+{11'+1’d X .

2

3

—ax +da

=g X +a

(a)

(k)

32
7a
24
Ta

()

(d}

Incomes of Mahesh and Kamal are in
the ratio 1:2 and their expenses are in
the matio 1:3, Which one of the
following statements is correct 7

(a) Mahesh saves more than what
Kamal saves

(b) Savings of both of them are equal

(c) Kamal saves more than what
Mahesh saves

(d) It is not possible to determine who
SAVES MOre

X and Y entered into partnership with
Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive 7

(a) Rs. 336

(b) Rs. 366

{c} Rs. 633

{d) Rs. 663



zgi-

30.

31.

e

32.

A,B,C,D,E,F,G._,H,I,J.KﬁL
e fim &, fstt it = 8w
1:2:3:4:5:6:7:8:9:10:11:12%F
g # e e Ak ety & fe
T T ST S 120 11:10:9:8:
7:6:5:4:3:2:1 | W F s
srftrepam o el ww B 7

(a) & F

(b) +44 G

(¢) & F IR G

) AW EARG

21224 482 4 gd2 4 484 4 o1 Rooffm A
form quifs & fawren @ 2

(a) 3

(b) 5

© 7

@ 11

afe 2p+3g=12 R 4p + 4pg — 3¢ = 126
g dtprgm AR TR ?
{a) 5

21
k) —

=g & *

(d)

3% 9 sfet it p e B S TE Tomm T 2
& log, 3=047TIR I nFTAR TR 7
(a) 13
(b) 14
(¢) 15
) 16

11

33.

.

is.

36.

T e AF TR 7
(a) 9
() 7
(¢} 6
(d) 3

Hﬁd-.r+3a=ﬂ‘%,?f‘f

x> taxtal %2
x =g g
TR T

4
(a) o

)
a

—axr+a’
— h1 HH

(b)

32
Ta
24
7a

le)
(d)

HEW HIC T A 122 F AP o

B, R TE = 13 A A B

fefrfm s da s o or wdt @ 7

(a) ST T S, FA & a9 o At
?

(b) I EH1 it F97 W 7

(c) =W B @, Hew &t a9 # afrs
[

(d) E a9 w0 a9d 76 & B st
AT HAT B

X #R YA B 700 3R E 600 & AT
T UTEERT 97F ed & | 1 "EF 9 X
A T2 = 207 e v & ol e
T T 35 o wE A R g s
M I T F AT AAHE T26 8 | T
# foraar x =t freen =nfgn ?

(a) ¥ 336

) %. 366

(c) ®. 633

(d)y % 663
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37.

38.

39.

A tank can be filled by pipe X in 2 hours
and pipe Y in 6 hours. At 10 am. pipe X
was opened. At what time will the tank
be filled if pipe ¥ is opened at 11 am. 7

(a)
(b) 5:00 p.m.
()
(d)

12:45 hours

11:45 am,
11:50 am.

A train 15 mavelling at 48 km'hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 5. It also
passes a rallway platform in 45 s. What
15 the length of the platform ?

(a) 600 m
(b) 400 m
{c) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2:3:4. What is the ratio between the
times taken by these cars to travel the
same distance ?

(a) 4:3:2
{b) 2:3:4
c) 4:3:6
(d) 6:4:3
If the mean age of combined group of
boys and girls is 18 years and the mean
of age of boys is 20 and that of girls is

16, then what 15 the percentage of boys
in the group ?

{a) 60
(b) 30
{c) 45
(d}) 40

SDC-5-TRD - A
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41.

=Y
b

The area of four walls of a room is
120 m’, The length of the room is twice
its breadth, If the height of the room is
4 m, what 1s area of the floor ?

(a) 40 m’*
(b) 50 m?
(c) 60 m’
(d) 80 m’

T

If a square of side x and an equilateral
tnangle of side y are inscribed in a
circle, then what is the ratio of x to ¥ ?

2
E

5
-

(a)

(B)

()

) &l

)

-"JI
(d) 3
The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1: 2. If the total surface area
15 616 cm’, what is the volume of the
cylinder 7
(a) 539 cm’

(b} 616 cm’

44.

1078 cm’
1232 cm’

(c)
(d)

A cubic metre of copper weighing
000 kg is rolled into a square bar 9 m
long. An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg
1000
() —- ke
(¢) 300 kg
500
(d) Tkﬂ



37.

38.

39,

440.

UH RS XA 2R AT FE
6 w2 # 7l = AT € | Wi 10 = 91
X @t | Fh faa =9 we S afe
oTEY YW 11w e e ?

(a) 12:45 TR
(b) 5:00 3
(c)” 11:45 @&
(d) 11:50 g

e SRS T 48 kem /HET B 9 TR E, AT
waTs @ e waT i U {ewnet w1, =
fagdia fRam # 42 km/EE @ 99 R,
12s AQ AR AR S 8 | TR O
e # A 45 g 3 et § | e 6
war fre & 7

fa) 600m

(b) 400m

(c) 300m

(d) 200m

A A ATE 2: 3.4 |
AT R T A gt aF el H w0 AT
HY T ST 9T # 7

{(a) 4:3:2

(b) 2:3:4

(c) 4:3:6

(d) 6:4:3

afe; e 3R gl & U wge we 6
e arg 18 99 @ o S 6 oang
wien 20 3ty wEfeat i sy % A 162,
&t wge # wewl 1wl . @ 2
(a) 60

(b) 50

() 45

(d) 40

43.

13

41.

42.

S FAL 1 TR S F A 120 mP
& | F fit At suh e fi gt R
aft wt i F=9r 4 m 2, Y sl = S
TR Y

(a) 40m*

(b) 50m’

(¢) 60m’

(d) BOm’

af qn w1 uE A i qE y W0
T Prge, o g s B R R,
WAy AqIA@ AR 7

© ;?5
@

U W8 FH 0 4 & a9 U8 SR A 5
g8 &he 1 e 1:2 8 | aft 79 e
B9 616 cm® 2, A1 =9 &1 A9
g2

(a) 539cm’

(b) 616cm’

(c) 1078 em®

ol

d) 1232cm’

e F Um ouA dier w1, e e
9000 kg &, 9 m Fand &t v FiER fiedt
% Afera e st & | U At wW oW
foeett & w121 W B | W WA W oA
e 7

(a) 1000kg

® O ke
(c)

300 kg
500
(d) = kg

A - SDC-5-TRD



45.

46.

47.

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
1-96 m’ ?

(a) 264
(b) 201
(c)

(d) 105

132

Let ABC be a right angled triangle with
BC=5cmand AC=12 cm. Let D be a
point on the hypotenuse A8 such that
L BCD =307 What 15 length of CD 7

120

fc) ——=cm
5+124/2

120

d
Nl FETY

Two circles touch externally and sum of
their areas i1s 130z em” and the distance
between their centres is 14 ¢m. What is

the difference in the radii of the circles 7

{(a) 5cm

{b) 6 cm

{c) 7ecm

{(d) ¥ c¢m

SDC-5-TRD — A
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48,

49,

51.

In a circle of radius 3 units, a diameter
AB intersects a chord of length 2 units
perpendicularly at P. If AP > B8P, then
what is the ratio of AP to BP 7

(a) 3+410:3-410
(b) 3++/8:3-4/8
(€) 3++3:3=43
(d) 3:43 '

What is the number of rounds that a
wheel of diameter # m will make in
traversing 7 km 7

{a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

comnlains Ei?-zli m® of air What is the
height of the building 7

{a) 6m

(b) 4m

€) 3m

(d) 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2 : 3 and its volume is 1617 cm’.
‘What is the total surface area of the
cylinder 7

(a) 462 cm’

(b) 616 cm?

(€) 770 cm’

(d) 786 em’



45.

46,

47.

T WA A, fead B g4 m sk
oAl 3978 35 m®, 7% ¥ feed e
i arert Bt s we €, afy wele g9 H
¢ % for 1-96 m’ wrE 1 e B 7

{a) 2064
(by 201
(c) 132

(dy 105

W e 5 uF wwwm s ABC ®

ot BC=5cm AKX AC=12¢em® | 9
wifsm =t 4B w v fag Dzm v B T
ZBCD=30°R | CDF e T & 7

() 60

(b)

120
541242

(c)

120

@ 5+1243

cm

w1 &1 99 wna; ol F0 § o T
FAFT F AR 130wem’ B, AT I
= % w9 AT g 14em B | A
st g T g ?

{a) Scm
(b) 6cm
{c) 7cm

{dy 8ecm

15

48.

49,

51,

3TH ot Bsmn % Uw ga W, S A8,
2 TFTE S T ST H PR e Wi
T2 | afs AP>BP %, AP FIBPE
FAE g Y

(a) 34410 : 3-410

(b) 3++/8:3-48

(¢) 3+3:3-43

(d 3:3

Tﬁ?ﬁﬁ?ﬁiﬁ@ﬂ%ﬁﬁﬁmﬂmm
uF i 7 km F g0 T A F fere
w7
{a) 3300
(b) 3500
{e) 4400
(d) 4900

E TG Ao % AT # 3 v & e
A ST U WAt = w@el R |
TR 1 S, e o ATaR i e i
i A | T W67 mi e R
THIA i SATs 1 8 ?

(a) 6m '

(b) 4m

(€) 3m

(d Zm

51. UF 6 dEgd Gwa & o i e

sfte Taht d=E & wa 2:3 8, R
THEHT FEEA 1617 cm’ B | SO & e
gt g a1 # 7

(a) 462 cm’

(b) 616 cm’
(¢) 770 cm’
(d} 786 cm’

A — SDC-5-TRD



S2.

53,

35.

The cost of painting a sphencal vessel of
diameter 14 cm is Rs. 8008, What 15 the
cost of painting per square centimetre 7

(a) Rs B
(b) Rs. 9
(c) Rs 13
(d) Rs 14

If a quadnlateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

(a) Half the sum of the diagonals

(b) Sum of the other pair of opposite
sides

Sum of two adjacent sides
None of the above

(e)
(d)
A circle and a square have the same

perimeter. Which one of the following is
correct ?

()
(b)

Their areas are equal

The area of the circle is larger

e
The area of the square 15 — times

(<) 5

area of circle

(d)

The area of the square is & times
area of circle

A dnnking glass of height 24 cm is in
the shape of frustum of a cone and
diameters of its bottom and top circular
ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as mx cm’,
then what is the value of x ?

(a) 824
(b) 1236
(c) 1628
(d) 2472

SDC-5-TRD - A a
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56.

57.

58,

59.

In an equilateral triangle another
equilateral triangle iz drawn inside
Joining the mid-points of the sides of
piven equilateral triangle and the
process is continued up to 7 times. Whal
15 the ratio of arca of fourth triangle to
that of seventh triangle ?

{a) 256 : 1
(b) 128 :1
(c) 64:1
(dy 16:1

Rain water from a roof 22 mx 20 m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full, what is the
rainfall 7

{a) 3-5c¢m

(b} 3 cm

(€) 2:5ecm

{d) 2 cm

The height of a cone is 60 ¢cm. A small
cone is cut off at the top by a plane
parallel to the base and its volume is
= the volume of original cone. What is
the height from the base at which the
section is made ?

(a)
(b) 20 em
(c) 30 em
(d) 45 cm

15 em

If two tangents inclined at an angle 60°
are drawn 1o a circle of radius 3 cm, then
what is the length of each tangent ?

(a) 3~."§ cm

(b} J3 cm
{c) 6 cm

(d) 242 cm



532.

53.

55.

14 cm =8 & T e 9 91 e
A S T 5. 8008 | | Wl = @
o s S s g 7

(a)
(b)
(c)
(d)

afs UF agHA # U Ada 3, o e
A F TF T T AT T

(a) Tl & g = s

(b) ¥R AT GEC T T GTEe
() Z e WATED AT

(d) =vgen & § =

%. 8
5.0
% 13
B, 14

. T 79 AR us el s afer mwEs @

foaffam e amaT o w1 2 7
(a) ST HEFT S B
(b) T T FAFA @

(c) Hﬂmﬁm,ﬂﬂ%ﬂﬂtﬁﬂﬁgﬁ

#
(dy = 1 SEAFA, TA & HARA F 4 A
®

g1 =1 U firmm fmdt 33 24 em® |
flt v % fomm 3 o =1 2, =
fraet o SR g Tl = =
4em 3 18em ® | ofs fremm 1 @
rrem'®, MaxwIHH FTR 7

(a) 824

by 1236

(c) 1628

(d) 2472

17

56. T wvETE e % o, ol T wEw

a7,

59.

et <t st & wenfagat 1 wisd ww
ek e Wy, P s o 8, sfeaw
wiwar 7 &R & A # | |9 B &
BERA 1 WA (A o SEEA d w0
T @7
(a) 256 :1
(b) 128 :1
{c) 64:1
(d) 16:1

22 m % 20 m U B @ 99 F1EH 2 m
=E F AET TF 3.5m IEE AW O
aerRE, O | frar 2 1 ol o ds-Et
ga w8, &t ol fee g ® 7

{a) 3-5¢cm

(b) Iem

{c) 2-5cm

{d) 2cm

. UF 9% &1 FA0 60 cm B | THE FHT &

AT T A O TS 8 W e o
FTer e €, o e s e WE F
AT w1 S B | TR A A S 2
W@l W HE S e 7

(a) 15ecm

(b) 20em

{c] 30cm

(d) 45 cm

afs 60° 3w R T gl 91 el vt
w1 3 cm P a9 o 9w & T fefem
for = 2, A1 vl et o g
g 7

(a) 343 em

) +3em

{¢) Hem

(d) 242 cm

A - SDC-5-TRD



60. What is the volume of a sphere of radius (a) n
3em 7 )

a) 367 cm’
A 3 b =

{b) 187 cm
(c) 97 cm’ nx
) 5

(d) 6xom’

|2

(d)
61. The sides of a triangle are given by

Va? 487, Al +a® and (b+c) where
a, b, ¢ are positive. What is the area of

For the next three (03) items that follow :

the triangle equal to ? A tent of a circus is made of canvas and is in
the form of right circular cylinder and right

2 1% 4o circular cone above it. The height and

@ = 5 : diameter of the cylindrical part of the tent are

5m and 126 m respectively. The total height
of the tent is 21 m.

*u'lazhﬂ +biet 4+ ﬂzﬂ'z

®) 2 64. What is the slant height of the cone ?
alb+¢) (a) 60 m
& =5 (h) 65 m
'Iﬂ{azbz + b2 +la?) B
(d X ) 70m

2

65. What is the curved surface area of the
62. What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius r units 7/

(&) 1980 m’
{(a)  square units (b) 2010 o
{b) 2+ square units () 2100 m?
(¢) 3" square units (dy 2240 m’

(d) 47 square units 66. How many square metres of canvas are

used 7

63, The diameter of the front wheel of an
engine is 2x cm and that of rear wheel is () 14550

2y cm. To cover the same distance, what (b) 14480
is the number of times the rear wheel () 14580
revolves when the front wheel revolves
n times 7 (d)} 14850

SDC-5-TRD - A I8



6.

61.

6.

5‘31

389 e I U e = I e
2 7

(a) 36mem’

(b) 18xcm’

3

(¢) 97 cm

(d) 6xem’

et fopm £ et B Val +2

Ve +at #R (b + o) T s e w
&, el a, b, ¢ TR & | T =7 g
o moa £ 7

Jat +b% +*

2

"ul[ azbz + bzcz - cza £
2

(a)

(b)

© a{b; c)

—q‘l 3alh® + 5% + ca’)
2

(d)

Pt r gt % UF g & Aewia S
W wER =g P & dede R v

(@) F =i
(b) 2 = g
(c) 3. = T
(d) 4" =
W T % HT 9fE FT S 2xem ® 3R
Tireet it =1 =@ 2y em ¥ | o wAE

7w & fo T ofied &t et 9w
T AT, afE s T p AR g R 7

19

(a)

(b)

(c)

(d)

w|[E =

'-:|§

:=|L§

FTe T (03) wyeTeT & foro W e Ra

¥

T T T T e A R | O
T S F w9 §, fwd oW o g
oF ® | T & aeeer W A e
=W FAN: SmARK 126 m ¥ | T H W
FEE2Im |

64. 5 1 et Sard et 2 2

(a)
(b)
(c)
(d)

60 m
65 m
68 m
70 m

65. o W 7 YEIT SEhA TR & 7

(a)
(b)
(c)
(d)

1980 m*
2010 m®
2100 m*
2240 m’

66, Tora =ivitee Fw=m wyen wat 7

(a)
(b)
(c)
(d)

14450
14480
14580
14850
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67.

70.

The wheels of a car are of diameter
B0 cm each. The car is travelling at a
speed of 66 km'hour What is the
number of completc revolutions each
wheel makes in 10 minutes ?

(a) 4275

(b) 4350

(c) 4375

(d) 44350

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?
(a) 30 em’®

(b) 35 em’

{¢) 40 cm®

(d) 42 cm’

If the perimeter of @ circle 15 equal to

that of a square, then what 15 the ratio of
area of circle to that of square 7

(a) 22:7

(b) 14:11

(c) 7:22

(dy 11:14

ARCDA is a con-cyclic quadrilateral of
a circle ABCD with radius r and centre
at 0. If AR is the diameter and CD is
parallel and half of AR and if the circle
completes one rotation about the centre

(), then the locus of the middle point of
D 15 a circle of radius

3r
(a) =

{bl—l'

SDC-S-TRD - A

71.

T2.

13,

2:3r
3
3

(d] 'T

(c)

If sinf+ cosf = g, then what is

sinf — cosf equal to 7

(a) 0

(b}

(c) 1

(d) 2

If sinx+sinx=1, then what is the
value of cos'x + 2cos®s + cos'x 7

() 0

(b) 1

(c) 2

(d) 4

A man from the top of a 100 m high
tower sces a car moving towards the
tower at an angle of depression 30°
After some time, the angle of depression

becomes 60°. What is the distance
travelled by the car during this time ?

(a) 10043m
200+/3
11|

(k) 3

10043
(c) 5 ®

(d) 20043 m



67. UF FW F UelT I = = 80 em R |

68.

70.

FR G kmEn Fr T AT ot & | vew
i 10 fame # formet =m qof gefa s
g7

(a) 4275

(b1 4350

(c) 4375

(d) 4450

12em, 13 em ﬁ?iﬂmmﬁiﬁw
=t wF frge w1 dwe e 2

(a) 30cm’
b)) 35cm’
(c) 40cm’
(d) 42cm’

. ot s g9 it ofitfy o of & wfem &

S B, & 9 5 S F, 9 % aAwe
% W I 1A 7

(a) 22:7

(b) 14:11

c) 7:22

(d) 11:14

r P sk OR ¥ 519 0 99 ABCD
TS UHTE Tq9F ABCDA R | wEi AB

=M &, # CD I GHrT AT AR w1
smar & | 7t 991 0% 5wt ok o ol

T Fwe # W CO% W fawg w fag,
Terert Porsm =7 v g9 2 2

Y

(b} —

71.

172,

T3,

(c)

243r
3

3r

@ =

gfe sinﬂ+mﬂ=§ B, ar

sinf — cost Torod suae @ ¢
(a) 0

(b)
()
(d) 2

afe sinx + sinZx = 1%, o

cos'x + 2cos’s + cos'x T A A & 7
(@) 0

b 1

(e) 2

(d) 4

— Mi'—"

100 m 34 T 2@ F o & v et 30°
AT IO H UH FW F 2 A AR A
B @A ® | 9 699 WG, WG S
60° BY ST # | 35 weaH R R a9 6
URIR-RED il

(a) 10043m

2003

B ==

m

10043
———— I
A

{d) 20043m

()
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. 74. Two men on either side of a tower 75> m

75.

T6.

171.

high observe the angle of elevation of
the top of the tower to be 30° and 607
What is the distance between the two
men 7

(a) 100+/3 m
(b) 753 m

w}lﬁfjm

(d) 60+3m

What is the value of
cosec68° + sec’56” — cot'34° -

{a) 0
) 5
ey 1
dy 2

tan 22° 7

If 2y cosf = x sin@ and
2x secl) — y cosecl = 3,
then what is x* + 4" equal to 7

(a) 1
(b) 2
(c) 4
(d) 8

"
If sinf + cosf = whm:ﬂ-c:ﬂc:i,

1-|-w.|'3
2
then what is tanf + cotf equal 1o 7

"

1
(b): el

SDC-5-TRD - A
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. What is

(L) 3
() :‘};

1
I A=sin’® + cos'0 where Diﬂf:?

then which one of the following is
correct 7

(a) 1<A4<2

(b) —<4=<1

{c) -l-—EAEE

3 13
—SLA=s—
¥ 4 16

cotd+cosecd—1 equal to 7
cotA—cosec A+1

I+cos A

a

(@) sin .4
1=cos A

1] (e i

(®) sim A
1+sin A \

G

©) cos A

1—sin A4
cos A

(d)

Consider the following :
1. sin 1° = gin 1°
2. cos 1° < cos 1
3. tan 1° > tan I°
Which of the above are mot correct 7
(a) 1and 2 only
(b) 2 and 3 only
(¢} | and 3 only
(d) 1,2and3



74.

785.

76.

1.

75 m 3 Uk 2T & ST 90 e 5 HTeHl
TR & st % IwE S Fr 30° #it 60°
w1 A € | g ssfit # s o gl
e 2 v

() 100+3 m

B 75J/3m
10043

it ||

{c) 3

id) 6043 m
cosec 68° + sec’S6° — cot*34° — tan22° =T

A TR ?
(ay 0
& 4

{c) 1
(d) 2

afg 2y cosf=xsinf #HR
2x secl - y cosecl =3 B,
X+ 4y o s 2 7
(a) 1

(b) 2

(c) 4

(dy &

af% sinf+ cosf= I':ﬁ g, ol U{E-:g

#, 1 tand + cotd FrEF wE 2 7

{a) ﬁ

4
]
{b}ﬁ

23

8.

79.

()} -3
(@ ;}5

MG A = sin’0+ cos*0R, & 0= E{‘-g 2,

At desr o ad 2 2
(a) 1= 4=<2

()

EE;JEI
4

EE.&EE
16

(<)

EﬂAEE

d
(@) 4 16

cot A+ cosecd—1 T — % 5
cot A—cosec 4+ 1 y

(a) 1+ cos 4
sin A
{b} l=cos A
sin A
(©) | + =10 A
cos A
{d} 1"51“..-"‘
cos A
ﬁﬁhﬁﬁﬂﬁﬂﬁﬁ'ﬁq

1. sin 1% = 5in 1*
2. cos 1< cos 1°
2 tan 1*>tan 1°

v A 8w § wEl wel § 7
(a) el 1 3R 2

(b) a2 W 3

(c) A= 1 #K 3

(d) 1,2 33

A - SDC-5-TRD



81. If tan’x+

81,

83.

=2 and 0°<x<90°,

tan~x
then what is the value of x 7

(a) 15°
(b) 30°
(c) 45°

(d) o0°

If the length of the shadow of a tower 15
equal to its height, then what is the Sun’s
altitude at that time ?

(a) 15°
(b) 30°
(c) 45°

(d) 60"

Consider the following :

cos 7% sin12° cos 18° _
1. o= = 1

gin 15 c¢os 78° sin 72° .

9. cos 35 _smll £

gin 55° cos 79°
cos 2B cosec 627 =1
3, Sn80 500 cec 31°=0
cos 1

Which of the above are correct ?
(a)
(b) 2 and 3 only
(c)
(d)

| and 2 only

1 and 3 only

1, 2 and 3

SDC-S-TRD - A
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84.

85.

#o.

A pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
cach corner of the park is same, then in
the triangle ABC, the foot of the pole is
at the

fa) Centroid
(b} Circumference
(¢} Incentre

{d) Orthocentre

What is the value of
tanl “tan2®tan3” tan4”®

... tanko9° 7
{a) 0
(hy 1

(¢} 2

@ 3

The average score of class X 15 83,
The average score of class ¥ is 76.
The average score of class £ 15 85,
The average score of class X and Y is 79
and average score of class Fand Z1s 81.
What is the average score of X, Yand Z7

(a) 815
(b) 80-5
(€) 790

(d) 78-0



81.

81.

=2 AL O <x<90° %,

afg tan®x + 5
‘N x

Al x T A7 4T #
(a)
(b)
lc)
(d)

15°
=
45°

60"

afy Tt zrx i v & == Sl
T % e § A 3w www o W
Iy A & 7

(2) 15°

(b) 30°

(c) 45°

d) 60°

. Frfetes = fAr Fifo

4 cos T5°+ sin 12%  cos iﬂ”’_l
" sin15° cos 78° sin 72°

€08 35"_ sin 11°
sin 55° cos 79°
cos 28° cosec 62°=1

sm 80"

cos 10°

T # A WA A E
(a) AT | HR 2

(b) =72 #R 3

(c) =& 1 &R 3

3. —5in 59° sec 31°=0

(dy 1,2 3k 3

25

84,

'ﬂﬁl‘

86,

T B O (F9M) ABC F I UF
I FAfter wer ¢ | 9l urh F vels o
B T o 9 ) AT E I U B,
B ABCH W S IR R W 7

(a)

(b) dify

(c) ¥ F=

(d) 7= %5

tan1® tan2° tan3° tan4® . . . tan89° =1 AW
w7 & ?

(a) 0

(b) 1

(c) 2

@ 3

whetl X o 3aa 3T 838 | Fem ¥ & sitmg
3% 76 8 | T Z % o 3w 85 & | e
X 3 e ¥ oftea @ 79 €, oW wa
Y 3% wET Z % sitea & 818 | X vk
ZF T Fw TR v

(a) 815
(b) 805
(c) 79:0
(d) 780
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87. For x>0, if a varable takes discrete

valuesx+4,x-35,x-2-5,x-3,x- 2,
x+ 08, x=05, x+5, then what is the
median 7

{a) x—1-25
(b) x-0-5
() x+0-5
(d) x+1-25
. The median of szet of 9 distmet
observations 1s 20-5. If each of the
largest 4 observations of the set is

increased by 2, then the median of the
new set

(a) is increased by 2
(b
()
(d)

is decreased by 2
is two times the original median

remains the same as that of onginal
set

. A cricketer has a certain average of
10 innngs. In the cleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What 13 his new
average

(a) 42
(b) 47
(c) 48
(d) 60

. The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as
3 and 6. If wrong observations are
replaced by correct values 8 and 9, then
what is the correct mean ?

SDC-5-TRD - A
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91.

9l.

23,

() 174
(b)
(c)

(d)

16-6

15-8

14-2

Number of credit cards held by an
individual can be treated as

{a) Q*uaiimtiv; data

(b} Dhscrete data

{c) Categorical data

{d) Mone of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what 15 the
average marks of the girls 7

(a) 64
(b) 65
(c)
(d) 74

68

A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108" angle at' the centre. What 15 the
percentage of income from corporate tax
to total funds 7

(a)
(b
(e}
(d]

20%
25%
30%
35%



87. x> 0% fou, aft e v, ffdm A+ 4,

39,

xr—35 x=25 x=-3, x=2, x+05
x— 05, x + 591 &, A aiicyE s f 7

(a) x—1:25
®) x—03
(¢} =+05
(d) x+125

. 9 T Tiagott o wep==a i A 2058

af gH==a % 4 =9 T2 DAt A 9 udE
&1 2 30t & =g fem wmo &t & W
ATfErET

(a) 2% =g AT B
(b) 2¥ 5 WAl &

(c) T wfewR 1 g &

(d) WH Ageag & WiEmw & oE
Tl #

s T faast ft 1o ot =1 ws
faferm st 2 | el o=l § g
108 7 =7, e e st 6 A e
T | FEE AT AT R 7

(a) 42
(b) 47
(c) 48
(d) 60

. 20 WOl & AT 178 | I R W T8

o T o & e w (qe d) 3 s e
w3 e AR AT AT | A T W &
W 9 AR A R T oTw e €, @
HEl AT TR ?

)

o1.

92,

03.

(a) 17-4
(b}
(c)

(d}

16-6
15-8

14:2

fortt = oy @ =% T e s
e &t g 59 # AT A gear B 7
(a) TOTHE

O BRELE bl

(c) wahfa oo

(d) =odee # @ = 7

100 Brenfat it v e 4 70 2% &,
% wF B #f sitra 5% 758 | ol
TEqt e o aitoa o 72 8, 9 et &
aite ot P € 7

@) 64

(b)
(c)

(d)

65
68

T4

oF I, fEE W 6o gw fifa &
fferee it el & Tt w0t & sra
gurfar & | et o % o gee W T
fas &=, & 9% 108° &1 &0 F97aT & |
WA FO# FA A O fm s
Wi = 8 ?

(a)
(b)
(c)
(d)

20%
25%
30%
35%
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94,

95.

97.

Consider the following statements :

1. The classes of type 15-19, 20-14,
25-29 etc. are exclusive classes,

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes,

Which of the above statements is/are
corect 7

{a) 1 only

(b} 2 only

(c) Both 1 and 2

{d) Neither | nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequenty
density of this class interval ¥

(a) I
(b) 3
{c} 5
(d)y 6
Let § be a set of first ten natural
numbers. What is the possible number of
pairs (a, b) where a, b & Sand a # b

such that the product ab (>=12) leaves
remainder 4 when divided by 12 7

(a) 4

(b) &

c) 8

(d) 10

What is the remainder when
13%+14%15™+16" is divided by 29 ?
(a) &

(b) 5

SDC-S5-TRD - A

98.

100.

(c) 3
(d) ©
What is the difference between the sum

of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(¢) 3820
(d) 4130

. A motorist travels to a place 150 km

away at an average speed of 50 knmvhour
and returns at 30 km'hour. ‘What 15 the
average speed for the whole journey ?

(a) 35 km/hour
(b) 37 km'hour
(¢) 37-5 km/hour
(d) 40 km/hour

If x+ 3 =2, then what is x

1+ —
I

2+

3

equal to 7

i
(a) 0

b —
(e} 7=

) =



94,

95.

96.

97.

ettt Fam1 o fa=r $ifi .

1. 15-19, 20-24, 25-29 #1fz w&w
& of, saflE =i 8§

2. 15-20, 20-25, 25-30 afe wEw
& o9, FaHE 79 ¢ |

Il # & #t A /d waw wet 28 0

(2) ¥4 1

(b) ¥ 2

(c) 1 ¥R 22

(@ aar,Ad2

"W dAttan T = s=ow 10-15 &
ARAAT 30 B, @1 @ I w0
TRETEA 99 fram 8 7

(@) 2

k) 3

€ 5

(dy 6

wT wiferm i 5, v gg sl semsit =
U W B | 1 (a, b) i wefie den
T # T a,becSiRazh@A TS &
TS ah (>12) 1 12# g =@ w
SHTE 4 TEATR 7

(a) 4

(k) &

(c) 8

(dy .10

13%+14%+15% 16" =t 29 @ fawmfm fisd
AT O SRS FAT T B

(a) B

b 5

29

98.

99,

100.

{c) 3
(d o

TR GH STV HEATHT & TAT o AR 1T
T T A =i 1 ST e
BT R 7
(a) 2280
(b) 2640
(c) 3820
(dy 4130

U Hizg qea 150 Tt g v wmm A
aren sofet /T f i s 2
s 30 fift fei2 <t s & e & | gt
ar=n & fau it of feart & 7

(a) 35km/=21
(b) 37 km/=zT
(c) 375 km/==
(d) 40 km/=21

afe x+

1
I _2 t‘l‘

2+l

3
ot x forms aEg 2 )

1+

7
13
10

11
10

(b)

()

il

@
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Note : English version of the instructions 1s printed on the front cover of this Booklel.



